R (z05) EABRAD R 2 84F 8 AKHBUE I
(f BT BUSEER) -

* B % L8 w K
1010 & -8 1,273 -8 1,321 -16 2, 594 -1 1,120
3 5 8 3 5
1020 JH +1 107 +1 109 +2 216 +2 89
1060 K[l +1 1, 640 -6 1,608 -5 3, 248 -2 1,330
-1 54 +3 30 +2 84 44 15
1070 HH +3 1,971 +4 2,017 +7 3, 988 +6 1,692
-1 33 46 -1 79 26 19
1080 HHEFH 702 45 743 +5 1, 445 609
13 +3 17 +3 30 10 8
1090 ZREHH -1 675 -2 675 -3 1, 350 -2 549
12 -2 10 —2 22 12 5
1100 = +4 545 +6 542 +10 1, 087 +1 437
5 12 17 9 7
1110 &% 84 -1 83 -1 167 56
1 1 1
1120 #HAH +1 481 -1 548 1,029 -2 466
3 4 7 2 1
1130 B4 i 26 29 55 22
1150 BB -3 1,707 -9 1, 680 -12 3, 387 +1 1, 449
B 36 39 75 32 15
1160 HBErih 129 -1 116 -1 245 93
3 3 3
1180 =Fn -1 554 -5 624 -6 1,178 -1 495
| 5 33 38 10 16
1200 FRE¥E—TH +4 512 498 +4 1,010 +1 329
7 9 16 3 5
1210 FREYTH -1 372 +3 352 +2 724 227
10 9 19 4 4
1310 AT 758 +1 746 +1 1, 504 +2 649
8 14 22 11 4
1320 HEARET -2 470 -7 480 -9 950 -5 431
s 3 8 11 4 4
1330 EFnHT -1 440 +2 541 +1 981 +3 431
4 I 9 13 2 7
1340 JbHET +1 501 -1 529 1,030 476
2 11 13 4 6
1350 =H#HA—TH +3 175 +2 166 +5 341 +2 146
1 1 2 1 1
1360 =KET”TH +3 485 477 +3 962 +2 415
8 6 14 6 5
1370 HkHET -3 921 -7 1,015 -10 1,936 +2 809
3 3 6 2| 2
1380 EEHT +8 710 +6 741 +14 1, 451 +7 594
3 +1 9 +1 12 3 6
1390 ®Z-TH 555 +1 529 +1 1, 084 -1 515
9 7 16 6 6
1400 HR—TH -4 271 =1 280 -5 551 -1 260
! 1 7 8 2 5
1410 R=TBE +3 353 +3 376 +6 729 +3 331
j 1 1 2 1 1
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£ Fr 5 = a3 R

1420 EMTH -2 345 -3 363 -5 698 -1 321
2 4 6 1 5
1430 JBET—TH +4 345 +8 348 +12 693 +5 313
11 12 23 9 4
1440 JEBTZTH +2 397 408 +2 805 -1 337
1 5 6 2 2
1450 HRAE—TH 467 -1 524 -1 991 +1 502
5 15 20 5 10
1460 RAHETZTH 222 227 449 -1 200
4 6 10 2 2
1470 EAET=TH 249 276 525 202
B i 3k R 3 7 1
1480 RAHTMTH +2 203 +2 237 +4 440 +2 187
5 6 11 5 3
1490 FLHT +4 506 -1 497 +3 1,003 +4 425
1 3 4 2| D
1500 AT +3 371 +5 377 +8 748 +5 335
10 +1 9 +1 19 9 3
1510 #&¥—TH +2 555 -4 594 -2 1, 149 +1 542
5 14 19 8 6
1520 ¥ =TH 643 -5 640 -5 1,283 +1 572
T i 4 11 15| 4 9
1530 HELET—T B +1 226 +7 251 +8 477 226
3 6 9 2 4
1540 BELUETZ=TH -1 263 295 -1 558 276
3 3 2 1
1550 BRILET=TH 228 -4 250 -4 478 -1 211

1 _ 1 1
1560 ‘ERIAT 417 -2 418 -2 835 +1 362
2 2| 4 2 2
1570 PEHET 299 -1 338 -1 637 -1 266
2 2 1
1580 KFHT +1 260 +3 313 +4 573 +2 253
1 +2 7 +2 8 4 2
1590 HRHET—TH -1 325 +1 330 655 -1 306
5 4 9 4 5
1600 AET—TH 399 +1 417 +1 816 389
~ 2 7
1610 AERT-TH -1 322 = 633 -1 299
2 5 ) 7 1 g
1620 AHT=TH -1 381 -1 396 -2 777 -1 357
4 . 12 6 2
1630 ZAHETIYT H +1 998 1,044 +1 2, 042 884
+1 10 15 +1 25 7 14
1640 HHHET T H +2 252 +1 272 +3 524 +2 242
6 9 15 4 2
1650 HHRHET=TH -1 267 -1 285 -2 552 -2 243
1 -1 3 -1 4 1 3
1660 SRAT -3 204 -2 226 -5 430 -1 189
1 D 3 3
1670 BXET -1 540 -2 556 -3 1, 096 +1 488
5 5 10 2 5
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£ Fr B o8 O HE B
1680 EHT -2 755 -1 748 -3 1,503 -1 648
1 3 4 3
1690 JEHT +1 680 +2 668 +3 1, 348 635
11 19 30 11 7
1700 EAHET -4 781 -6 770 -10 1, 551 -4 684
11 -1 14 -1 25 g 4
o T A X +14| 28,317 -20| 29,194 -6 57,511 +26| 24,914
-1 336 +6 491 +5 827 302 263
& 3t +22| 72,625 -36| 71,713 -14| 144,338 +38| 59,421
+10 1,576 +9 1,320 +19 2, 896 1, 450 659
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2110 EX®H +1 775 711 +1 1,486 -3 584
-1 31 -1 8 -2 39 30 5
2120 TEE 358 -1 315 -1 673 41 251
| 10 3 13 5 2
2130 /M2 | +2 1,817 +6 1,901 +8 3,718 +7 1, 500
35 23 58 30 11
2140 BEF | -19 1,947 -10 1,761 -29 3, 708 -17 1, 669
-1 27 20 -1 47 19 11
2210 ABE | +1] 1,542 —6| 1,499 -5 3, 041 +3] 1,178
+4 48 17 +4 65 46 4
2220 TKE +3 1,870 1,823 +3 3, 693 +8 1,343
[ [ | 1 17 I 36 18 10
2230 MG +1 464 -2 431 -1 895 +2 326
1| 1 2 1 1
2240 B4 562 -4 551 -4 1,113 404
+2| 20 2 +2 02 13 4
2250 = +3 506 -3 432 938 326
-1 30 3 -1 33 22 3
2310 B -2 622 583 -2 1, 205 +1 445
29 6 35 26 4
2320 BEES +2 730 -1 686 +1 1,416 +4 570
18 2 20 17 1
2330 TOHFrH 79 60 139 56
1 1 1
2340 _EWIH 74 72 146 48
2 2 1
2350 B4R -6 2,184 -1 2, 166 -7 4, 350 -2 1,763
-2 59 -2 . 49 -4 108 53 17
2360 K +2 1,163 -2 I, 097 2, 260 +1 880
+3 67 20 +3 87 60 7
2370 HITAK 420 -2 427 -2 847 289

13 1| 14 12
2410 kIR -7 3,927 +17 3,673 +10| 7, 600 +2 3, 353
80 -1 82 -1 162 80 38
2420 3R +2 1,199 -1 1, 107 +1 2, 306 -3 935
g D 09 17 36 16 4
2430 KR | -1 753 -1 732 -2 1, 485 608
7 6 13 6 K
2440 TE4H +2 1,148 +1 1,112 +3 2, 260 925
10| 13| 23 9| 13
2450 R4H +2 774 699 +2 1,473 +2 632
20 +1 17 +1 37 23 5
2460 LB +12 2, 589 -4 2,472 +8 5, 061 +4 2, 096
+2 70 74 +2 144 75 23
TN H X -2| 25,503 -14] 24,310 -16 49, 813 +10| 20, 181
+6 615 -3 382 . 43 997 561 172
w3 +22| 72,625 -36| 71,713 -14| 144, 338 +38| 59,421
+10 1,576 +9 1, 320 +19 2, 896 1, 450 659
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3010 FE +8 4,194 +12 4,117 +20 8, 311 +18 3, 430
161 +13 126 +13 287 185 48
3020 FHIE 122 128 250 103
1 1 1
3030 _Efnm -3 262 -2 256 -5 518 173
1 3 4 2 2
3040 BWiA +5 457 +6 452 +11 909 +2 326
1 1 2 1 1
3050 LA H 485 -2 502 -2 987 -2 380
15 16 31 11 13
3060 THH 286 -2 235 -2 521 +1 215
1] 9 — 10 4 6
3070 KfnH -1 633 -2 641 -3 1,274 -1 490
+1 14 -1 9 23 18 1
3080 FfnH -1 128 +1 119 247 85
3 1 4 3 1
3090 {3 2,125 +1 2,042 +1 4,167 +1 1, 639
-2 71 58 -2 129 60 32
3100 ZEFE)I 554 -1 542 -1 1, 096 -3 421
10| 22 32 9 10
3110 HUH +1 2,981 -12 2, 887 -11 5, 868 -13 2, 247
+2 96 -11 47 -9 143 82 35
3120 & H 598 +2 577 +2 1,175 +1 438
+2 10 +3 8| +5 18 8 5
3130 UM -2 739 -2 759 -4 1, 498 518
+1 3 9| +1 12 4 5
3140 dbilim 137 155| 292 111
3150 RBATMEH -1 388 +1 344 732 265
-1 21 14 -1 35 27 1
3160 B4 -2 671 -1 615 -3 1,286 427
3 9 12 5 7
3170 RIG +7 3, 303 +1 3, 064 +8 6, 367 -2 2, 468
+4 191 +2 93 +6 284 147 42
3180 JLH 45 40 85 31
3200 RMETHE -1 130 155 -1 285 130
5 2 7 6 1
3210 PEFEFE 99 101 200 65
2 2 1 1]
3220 PEMETE 393 -2 395 -2 788 319
' -2 19 17 -2 36 14 12
3230 AL HHE 75 83 158 45
=fHx +10| 18, 805 -2 18,209 +8 37,014 +2| 14,326
+5 625 +6 447 +11 1,072 587 224
w3 +22| 72,625 -36| 71,713 -14| 144,338 +38| 59, 421
+10 1,576 +9 1,320 +19 2, 896 1, 450 659
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